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QUESTION 1

An administrator needs to determine the maximum volume size that is supported per operating system. Which resource
has this information? 

A. Config Advisor 

B. OneCollect 

C. Interoperability Matrix Tool (IMT) 

D. Hardware Universe (HWU) 

Correct Answer: C 

 

QUESTION 2

On your ONTAP 9.5 cluster, you need to set up the onboard key manager with hardware-based security and volume
encryption. 

Which two licenses are required in this situation? (Choose two.) 

A. FDE 

B. TPM 

C. VE 

D. RSA 

Correct Answer: CD 

 

QUESTION 3

Exhibit. 

NS0-509 VCE Dumps | NS0-509 Practice Test | NS0-509 Study Guide                                2 / 4

https://www.passapply.com/ns0-509.html
https://www.passapply.com/ns0-509.html
https://www.passapply.com/ns0-509.html


https://www.passapply.com/ns0-509.html
2024 Latest passapply NS0-509 PDF and VCE dumps Download

Referring to the exhibit, which FC LIF would cause a path failure on a host connecting to a LUN? 

A. fcp_sanluns01prod02p0e 

B. fcp_sanluns01prod02p0g 

C. fcp_sanluns01prod02p0g 

D. fcp_sanluns0lptodOlp0e 

Correct Answer: A 

 

QUESTION 4

When planning out a new FC SAN implementation for a AFF cluster, which two variables should be considered for a
highly-available, resilient solution? (Choose two.) 

A. Length of LC/LC optic cables 

B. Multiple disk shelves 

C. Multiple PDUs connected to separate circuits 

D. Data-fabric zones using multiple switches 

Correct Answer: CD 

 

QUESTION 5

Click the Exhibit button. 

During pre-deployment testing, you want to ensure that all FC paths are available to your host. You use the network
interface modify -vserver SVM1 -lif LIF_top-0f -admin-state up command to correct the configuration shown in the
exhibit. 

What happens when using this command? 

A. It creates a new LIF on SVM2 named up. 

B. It creates a new LIF on SVM1 named LIF_top-0f. 
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C. It changes the administrative state from "down" to "up". 

D. It changes the operational state from "down" to "up". 

Correct Answer: C 
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